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Kuta Software - Infinite Geometry Name___________________________________

  Period____Date________________Midsegment of a Triangle
In each triangle, M, N, and P are the midpoints of the sides.  Name a segment parallel to the one given.
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Find the missing length indicated.
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Find the missing length indicated.

13)  Find LN
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16)  Find VW
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Name:_____________________________________________Date:_____________Per:_____	

6.4	The	Triangle	Midsegment	Theorem		
	
In	Exercises	1-5,	use	the	graph	of	∆"#$.	
	
	
	
	
	
	
	
	
	
	
	
1.	In	∆%&',	show	that	the	midsegment	()	is	parallel	to	&'	and	that	() = +

, &'.	
	
	
	
	
	
	
	
2.	Find	the	coordinates	of	the	endpoints	of	midsegment	(-,	which	is	opposite	%'.	
	
	
	
	
	
	
	
3.		Show	that	(-	is	parallel	to	%'	and	that	(- = +

, %'.	
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4.	State	the	coordinates	of	the	endpoints	of	midsegment	)-.	
	
	
	
	
	
	
5.	Show	that	)-	is	parallel	to	%&	and	)- = +

, %&.	
	
	

	


